算数の答え　５年生
１９ページ

２　　の答え　　　　　　　　　　　　　　　　　　　　３　　の答え
①６×６×１０＝３６０㎤　　　　　　　　　　　　　　①５×６×７＝２１０㎤
　　　　②４×７×９＝２５２㎤　　　　　　　　　　　　　　　②５×５×５＝１２５㎤

　　２０ページ

２　　の答え
　　　　式　　１０×８×５－３×３×３＝３７３
　　　　答え　３７３㎤

２１ページ

２　　の答え
　　　　①式　　４×５×６＝１２０　　　　　　　　②式　　６×６×６＝２１６
　　　　　答え　１２０㎤　　　　　　　　　　　　　　答え　２１６㎤
　　　
４　　の答え
　　　　１㎤＝１００００００㎤　
　　　　だから２４㎤は１００００００㎤が２４個分ということになります。
　　
　　　　答え　２４００００００㎤

社会の調べ学習の例
[bookmark: _GoBack][image: C:\Users\047816.HADANO-EDU\Desktop\P4230260.JPG]
image1.png
. | et LB R (kan, 7T
[ERoEco 1AL . | “ w)bﬂ“ﬁw\s&«rv);m\f:,

(5. (HF B :
779 0AkE -
= 2‘ o B, . BadR e
= ¥
l

LENFRERT 7 ) Hh kb
A% & B

wiAan
N e Y )

s =7 B B v < SinEe
By, x> s =v 2 SR
e ot B v hvtE &l |

B ~
>y O ok
et = = e B N TH <L





